EXERCISE #3  Organic Chem II Alfred State College


Two chiral center manipulations and assignments
3.0 In class model ID
3.1) What’s the right shape for a 3D Fischer Configuration ?

Which conformation below is in the correct conformation to be drawn as a 

 Fischer structure with 2 chiral centers :
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3.2 )  3D projection (
Correct Fischer Configuration 

In your mind’s eye twist the model below so that the correct Fischer configuration is attained, then write down X’s 2D Fischer representation below. Assign both centers.
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R or S? 
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b


R or S?
3.3) Fischer Configuration to equivalent 3D projection 


Draw molecule Y below as the Fischer structure is supposed to look in 3D projection   


           R or S ?




c

d

R or S ?
3.4) Assign R/S configuration to chiral centers at a-d

455. structure ID: Circle the correct identity of each pair







Meso    Enantiomer   Diastereomer







Meso    Enantiomer   Diastereomer







Meso    Enantiomer   Diastereomer

3.6. Circle all the Erythro compounds among the 6 structures above
3.7. Two Stereo Center Reaction Prediction 
a) Suppose Br2 attacks `syn’ across the alkene shown below. Predict R/S for the two 

             chiral centers formed (X and Y)
X =


Y=    






                                   X

                     Y
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b) Is the product dibromide a meso 


     structure or an enantiomer ?
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